

REQUEST TO SUBMIT PROPOSAL FOR SUPPLY AND DELIVERY OF LOT 1 – ICT SUPPLIES, LOT 2 – ICT EQUIPMENT, AND LOT 3 – COMMUNICATION EQUIPMENT FOR THE UTILIZATION OF BALIK PROBINSYA BAGONG PAG-ASA (BP2) PROGRAM TO THE PROVINCE OF CAMARINES SUR AT APPROVED BUDGET FOR THE CONTRACT AMOUNTING TO FOUR HUNDRED NINETY-SIX THOUSAND THREE HUNDRED PESOS (PHP496,300.00) PURSUANT TO ALTERNATIVE METHOD OF PROCUREMENT SPECIFICALLY NEGOTIATED PROCUREMENT-SMALL VALUE PROCUREMENT UNDER SECTION 53.9 UNDER RA 9184 AND ITS REVISED IRR

The Department of Agriculture Regional Field Unit No. 5 (DA RFO 5), San Agustin, Pili, Camarines Sur

is inviting interested suppliers to submit complete bid proposal for the ff:

-	Particulars	Unit Cost	ABC
LOT 1 – ICT			
10 pcs	Hard Disk, 2 TB Portable external Hard drive USB 3.1 Gen 1 shock proof Dimension: 134 x 87.5 x 18.6mm Weight: 181g - 205g (by capacity)	7,000.00/pc	Php70,000.00
20 pcs	USB/OTG (flashdrive 64gb), type C	1,000.00/pc	20,000.00
8 pcs	USB 2.0 Hub 4 hi-speed USB 2.0 ports transfer data at up to 480 Mbps	491.875/pc	3,935.00
3 pcs	HDMI 2.1 Cable (Bandwidth up to 48Gbps) Support 4K@120Hz, 8K@60Hz Audio Return Channel; 48 bit/px Color Depth	3,500.00/pc	10,500.00
		Sub-total (Lot 1)	Php104,435.00
LOT 2 – ICT	EQUIPMENT		
12 pcs	Geotagging Device Dimensions: 167.2 x 76.4 x 9mm (6.58 x 3.01 x 0.35 in) Weight: 203g (7.16oz) Build Glass front, plastic frame, plastic back SIM Single (Nano- SIM) or Dual SIM (Nano-SIM, dual stand-by) Type: TFT, 90Hz Size: 6.6 inches, 105.2 cm2 (~82.3% screen-to-body ratio) Resolution: 1080 x 2400 pixels, 20:9 ratio (~399 ppi density) OS Android 11, One UI Core 3.1 Chipset Media Tek MT6833 Dimensity 700 5G (7nm) CPU Octa-core (2x2.2 GHz Cortex- A76 & 6x2.0GHz Cortex-A55) GPU Mali-G57 MC2 Memory Card Slot microSDXC (dedicated slot)	14,000.00/pc	168,000.00
3 pcs	3-in-one Mobile Printer Bluetooth-enabled devices Item weight: 0.8 Pounds	7,000.00/pc	21,000.00
3 pcs	UPS BVX 1200VA, 230V, AVR, Universal Sockets	7,000.00/pc	21,000.00
3 pcs	Television Set (Smart TV)	14,955.00/pc	44,865.00



Republic of the Philippines DEPARTMENT OF AGRICULTURE

Regional Field Office No.5 San Agustin, Pili, Camarines Sur, 4418 http://bicol.da.gov.ph

	1	T	
	Dolby Digital, Dolby Digital Plus,		
	and Dolby Pulse support		
	DTS 2.0 + digital out, Integrated		
	FM radio, 4GB onboard storage		
	Electronic program guide		
	On/Off timer, Sleep timer, Teletext,		
	Digital closed captioning (subtitle)		
	Power Saving Mode / Backlight Off		
	Mode		
	Dynamic backlight control		DI 254.065.00
LOT 3 CO	MMUNICATION EQUIPMENT	Sub-total (Lot 2)	Php254,865.00
		7 000 00/	21 000 00
3 pcs	Digital Voice Recorder with S-	7,000.00/pc	21,000.00
	Microphone		
	Up to 4GB of built-in storage,		
	expandable via microSD		
	(SDHC/SDXC) cards		
	Direct USB built-in for		
	easy.connection to PC		
2 pcs	Compact Powered Desktop Master	10,000.00/pc	20,000.00
15	and extension speaker		,
	Coaxial 4.5-inch (118mm)		
	contoured LF driver with integrated		
	.75-inch (19mm) soft-dome HF		
	driver		
	Contoured low-frequency port		
	Integrated 60-watt Class D power		
	amplifier; 30 watts distributed to		
	each speaker		
	Acoustically optimized for desktop		
	placement		
	Three sets of inputs allow		
	connection with professional		
	extension monitor, minimizing		
	wiring and clutter		
	Front-panel volume control		
	Front-apnel headphone jack with		
	speaker mute feature		
	Integrated power supply		
3 pcs	Lapel, Omnidirectional polar	5,000.00/pc	15,000.00
o pes	pattern, flat frequency response,	5,000.00/pc	13,000.00
	high quality sounds, work with		
	cameras, smartphones and		
	One button quitch between gamera		
	One button switch between camera		
	and smartphone mode		
	6m (20') length cable, foam		
	windscreen, lapel clip, 1/4' adapter		
	and LR44 battery included		
5 pcs	Wifi Headset	7,500.00/pc	37,500.00
	5.0 Bluetooth version, silicon eartip		
	material		
	Driver sensitivity at 1kHz/1mW		
	(dB) 95		
	Dynamic frequency response range		
	(Hz) 20 Hz-20kHz		
	1 \ -7	ı l	



Republic of the Philippines DEPARTMENT OF AGRICULTURE

Regional Field Office No.5 San Agustin, Pili, Camarines Sur, 4418 http://bicol.da.gov.ph

	GRAND TOTAL	PHP496,300.00
	Sub-total (Lot 3)	Php137,000.00
TruNote, Wireless		
Siri/Google Now, Speed charge,		
Over-ear, Rechargeble battery,		
Hands Free Call, Leather headband,		
Detachable Cable, Flat-fold design,		
Microphone, Carrying case,		
Ambient Aware, Built-in		
Adaptive Noise Cancelling		
Driver size (mm) 40.0		
Headphones jack type 3.5mm		
/ 3.93 (ft)		
Headphone cable length (cm) 120.0		
Ear cushion material PU Leather		
Bluetooth version 4.0		

for utilization of Balik Probinsya Bagong Pag-asa (BP2) Program to the Province of Camarines Sur. The agency intends to apply the amount of Four Hundred Ninety-Six Thousand Three Hundred Pesos (Php496,300.00) as the Approved Budget for the Contract.

As per approved Purchase Request and considering the nature of requisition being not more than One Million Pesos (Php1,000,000.00) and in order to fast-track the implementation of the program, this procurement is facilitated thru Negotiated Procurement-Small Value Procurement under Section 53.9 of RA 9184 and its Revised IRR.

As such, **DENVER'S COMPUTER SHOPPE**, **INC**, Naga City, Camarines Sur; **RFK GENERAL MERCHANDISE**, Pili, Camarines Sur; **3GX COMPUTER & IT SOLUTIONS TECHNOSHOPPE**, Naga City, Camarines Sur; and all interested bidders are hereby requested to submit the following documents:

- 1. Mayor's Permit
- 2. DTI Registration
- 3. PhilGEPS Registration
- 4. Annual Income Tax Return
- 5. Omnibus Sworn Statement
- 6. BIR Registration
- 7. Picture or Brochure

The bidders are required to pay Php500.00 for bid documents to the Cashier's Office, DA RFO-5, Pili, Camarines Sur. All submitted documents must be in duplicate, marked with index/ear tabs or side-end tabs to identify the page components, and addressed to the BAC Chairperson; otherwise, bids will be automatically rejected on the ground of non-compliance with the prescribed bid requirements.

Sealed Bid must be received by BAC Secretariat; DA RFO 5 not later than **1:30 in the afternoon of 13 December 2021** at 2nd Floor Adriano Hall, Admin. Building, DA RFO-V, Pili, Camarines Sur. Opening of proposal will be on the same date and time.

Let this Invitation be posted pursuant to RA 9184 and its IRR. For more information, please see or call BAC Secretariat, Legal Office, Tel. No. (054) 477-33-56.

09 December 2021, Pili, Camarines Sur.



Republic of the Philippines DEPARTMENT OF AGRICULTURE

Regional Field Office No.5 San Agustin, Pili, Camarines Sur, 4418 http://bicol.da.gov.ph